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I Continued discussion about status of child born of YX7w’ na Yy Xan 0™ T1Y
a  Story of captive women, one of whom became impregnated:
i Ruling: amn, following great n»120 'RNNR
ii ~ Challenge: (921) YR1W and (”R) R19p 92 Or MR DINT NPT - W TN
1 Answer: it was following »2, who rules 7tn (according to 7 ")
2 Note: even those who rule 7w3 define child as n2n2% nna
3 Reason: v"p from ninhHr
(a) Potential challenge: ninYR herself is invalidated
(b) Defense: so is the 987w na — becomes nr as a result of this nxa
(i) Proof: v. 1- 103 na returns to 7ar n°a7 MmN only if she was with someone with whom minbx
VI are feasible
4 Retort: why follow 'n»7 "3, when a1 reported that '27 was lenient, as was 11
(a) Support: ®271,nM> 27 ,Mnn 17,17 all permitted
(i) Stories: 27 refused to give his own daughter to such a man, 827 advised such a man to go
where no one knows him and marry a nw>
(b) Question: V211, Y2 P11n 12 who has relations — what is the status?
(c) Amazement: why ask of N1’ 29, who permits even the child of a full Tay?
(d) Explanation: "1y 271 nonetheless stated that the child of a /2 & 2 has no marriagability
(i) Take #1: referent is w/pwiTp, the mTay ¥ is violating WX nWR (married to the MmN 1x)
(if) Challenge: »y17M record that those who permit, do so even if the woman is an WX nwr
(iii) Take #2: %2 & %2 had relations with an WX nwR, MmN 1% turns child into N, N7y 7% leaves
him w2 2 mpn v pr
5  Analysis: dispute about m w2 of Y%7’ na %y Ran " T2y 12 follows applicability of ax nwx
(a) Forbidding: just as 2R NWR — POAIN 1R PYVITP and result is a Irnn...
(b) Permitting: a8 nWR has PwITp with others...
6  Ruling: YR na %y Ran 0™a) 72Y - child is w3, even if she was married at the time
7 Story: ®a1 “validated” 5m1 92 »n 27 (father was n"12y) and appointed him as a clerk
(a) Challenge: v. 2 — all appointments must be 7nR 19pn
(b) Answer: since his mother is N1, considered PnR 17pn
8  Story: man was 92vn his nnaw for purposes of MT1 —qov 11 validated her and her daughter (born later)
(a) Her: as per o "1 — any n%2v (even mT1 0WY) is valid for 73 (same with man —1p% n5av)
(b) Her daughter: because 793 1910 YR na 5y Ran 0" T2p
9 Ruling: if you buy an 713 72y from an 0”3y and he is 210 for purposes of mvn first — he’s free
(a) Reason: the 0™y doesn’t have qun 11p (as per v. 3) — only transfers what he owns (>"yn)
10  ruling: must push »y13 T2y into water and hold him with chain — then demonstrate ny1ay immediately
11 story: ®»n "7 came to XYy and saw:
(a) 1: women marrying 1 who had only done n%n, not n%av
(b) 2:non-Jews serving Jews wine
(c) 3:Jews eating lupines cooked by non-Jews
12 continuation: ®»n "1 said nothing, came to 13N "7 who sent message:
(a) 1:children are n»tnn
(i) reason: 13Ny 1 holds that sans n91v, still fully non-Jewish, and amn THnn Y%7 na Yy ®an n"ay
(b) 2: wine is qo11»
(i) reason: npMIN
(c) 3:lupines are prohibited — since they are not nn »a
(i) implication: if they were more knowledgeable, they wouldn’t be mor
(ii) reasom: 1IN "1 maintains that 021 *>1w2a only applies to something fit for a royal table — lupines
are not fit for royal table
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